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11. Annotations used in the detailed Mark Scheme (to include abbreviations and subject-specific conventions)

Annotation Meaning
Tick

Development of point

incorrect

Irrelevant (material which doesn’t answer the question)

Caret sign to show omission

Opinion

Just/Justification

Good language

Poorly expressed

Past tense correctly used

Future tense correctly used

Present tense correctly used

Accurate language

SIS gl A

-

Inaccurate language

Abbreviations Meaning

/ Alternative and acceptable answers for the same marking point
() Words which are not essential to gain the mark

Underlined words must be included to gain the mark
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F886
12  Subject-specific Marking Instructions

You should print out a copy of the paper and work through it yourself (using the transcript for the Listening activities which you can find at the end of
the Mark Scheme, if the audio version is not available on the portal.) You will need a copy of the written texts to refer to during the marking process in

order to spot excessive lifting in tasks 6 and 7. The texts will not appear automatically on your marking screen.
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Mark Scheme

Section A: Listening and Writing

Task/Exercise 1:
Task specific guidance:
e Each question will be scanned in individually (questions with more than one element will appear twice/three times as appropriate)

e For single mark questions no annotation is necessary just enter 1, 0 or NR.
e There is no need to use a cross (X) for an answer that is clearly incorrect. Use it when you have had to think and decided not to award the
mark or when a word in the response invalidates an otherwise acceptable answer.

e You may also use the highlighter tool to show harmless additions.

e Answers in Persian get no marks

June 2013

Question Answer Marks Guidance
[6]

a Not much / not good / should only sing in the bathroom / 1 Any reference to his voice not being good is accepted,
shower including: He should only sing for himself.

b The guality of her voice is good. (OR) 1 Key words/concepts are underlined. Reference to these is
She sings according to the notes/in tune. essential.

c Not allowed by Iranian law / government / authorities

d She can sing in a group.
She does not want her voice to be lost in others’ / wants to
sing on her own.

f It's a way of getting round restrictions. OR: It has no 1 OR: She can upload / put her songs on the Internet.

restrictions / limitations / limits.



rralph
Typewritten Text
Persian
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Task/Exercise 2

Task specific guidance:
e Each question will be scanned in individually (questions with more than one element will appear twice/three times as appropriate)

e For single mark questions no annotation is necessary just enter 1, 0 or NR.

June 2013

e There is no need to use a cross (X) for an answer that is clearly incorrect. Use it when you have had to think and decided not to award the

mark or when a word in the response invalidates an otherwise acceptable answer.

e You may also use the highlighter tool to show harmless additions.

Question Answer Marks [22] Guidance
a(1) (G5 Elrz 0,5 Lbaals (V) i 1
a(2) AS coi |y 5 ol Toee (L) W3S o gl 3 (V) I 1
b(1) 0SS o Bpan oy o 605 s sy D 0| 1 i1 DALINS Gl i ol ol im0
b(2) 55 Sgmms 350 o o) S L «¥) 1
c(1) Sensl 5b 05y Ol (S (299 25 ) Wjio0 gald 1) Gralrge (285 2> () & 1
c(2) S9dse ooy (V) @ 1
d NS o 5b 1y Jla oo 1
e JJ.S‘SA ol oolal |) Lg}?,‘i}‘/ ‘a)’y Jﬂij/ o\s,o ‘51§5 s 1 JJ.S‘SA Cewgd o )L.: ‘5,.59 JL.A ;S L)
f WS (oo by |3 (oo o) 1) sl igise i 1
g laisS' oo 0y 1) ladie o Wigd oo 905 pleial) el 4 By i@ 1
h(1) Wgd oo S903 (b 29> edle 4:()) £ 1 SyS 0 00 Wilop | pspie 51
h(2) Sgbso o5 3oy yos (9) S os Bpan (L) d9500 )02 4 (3 () ¢ 1+1
i(1) SIS oo oolial oS Sis ) b 5 (V) & 1
i(2) Glo oL el 5o (L) o,lai Hleb! Iga a4 «(Y) & 1
j 558 poslosl 3Ll Slea (5) 998 SuB BUI wnlss oo (L) Sl 2l S (52 1+1 Sl 5595 198 (S50 5 Lo S (50551 (rmly @ o L
k(1) A:S‘scLo)wwLp‘:(\):é 1 wng)”on)SLoﬁwwl(‘aW)@o)ul
k(2) S9d oo plox Fro &l (5) WS (o0 (pg, SBst (V) 2 1 el (55970 8B ol I i slo S a4 0L
| g s bl [ oLk el oLl o 3 eoliial sl 00,5 Uy g psS o, | 1+1+1
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QoL: Read response again and assess for language.

¢ Annotations: you may use the underlining tool (--) to show language errors if you find it makes it easier to apply Grid C.2, but it is not
essential.

¢ Grid C.2: Key words have been highlighted in the Grid. Remember that this grid is also used to assess accuracy at A2. Identify the band
which best matches the performance. If you identified the band without hesitation you must award the higher of the two marks.

QUALITY OF LANGUAGE - ACCURACY

Sl 10 marks AO3

9-10 Characterised by a high and consistent level of accuracy in use of complex structures, although there may be some errors.

7.8 Language generally accurate. Shows a sound grasp of AS (and/or A2) structures, as appropriate. Generally correct use of complex
structures. Tenses and agreements good, although there may be some inconsistency and errors in more complex areas.

5.6 Shows evidence of fair understanding of grammatical usage. Generally accurate use of simple sentence structures. Some correct
use of complex sentence structures. The performance is likely to be patchy and inconsistent.
Evidence of gaps in basic grammar. Frequent errors of an elementary kind (endings, verb forms, gender of common nouns,

3-4 adjectival agreements) but evidence of correct use of simple sentence structures. Vocabulary and structures may be quite strongly
influenced by the candidate’s first language.

0-2 Little evidence of grammatical awareness. Persistent, serious and elementary errors (endings, verb forms, gender of common

nouns). Frequent first language interference.
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Section B: Reading and Writing

In Section B there are 10 marks for Quality of Language.

Task/Exercise 3

Mark Scheme

June 2013

Question Answer Marks Guidance

[7]
1 - 1
> 2l 1 Multi-choice o _

Marks entered individually. No need for annotation. Enter 1, O or
3 4l 1 | NR as appropriate.
4 < 1
6 ! 1
7 o 1
Task/Exercise 4:
Question Answer Marks Guidance

[8]
a 9% () 1
b idacals, (o) 1 1 mark for each correct answer
¢ ek (&) ! The marks are awarded individually. No annotations are
d S ey (D) 1 | necessary.
e Slaxsl (&) 1
f &2 (@ 1
g JRiE @ 1
h ol () 1
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Task/Exercise 5

Mark Scheme

June 2013

Question Answer Marks Guidance
[5]
! 2 ! Gap-fill
2 1 No annotation is necessary. Enter 1, 0 or NR as appropriate.
c Ignore misspellings.
3 P 1
4 < 1
5 L 1
Task/Exercise 6
Question Answer Marks Guidance
[5]
1 RS ~‘ ‘ . . l}‘ L, . A . ‘ . l S . . 1
wed Gl G Ol () 45, Rl o o Sentence Completion
2 Lo o5 L 1 Marks entered individually. No need for annotation. Enter 1, O or
NR as appropriate.
3 OLB! 1
4 FelS| 1
5 QS ol oyl ) (o)) i 1
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Task/Exercise 7

Task specific guidance

e Each question will be scanned in individually (questions with more than one element will appear twice/three times as appropriate).

¢ Familiarize yourself with the text and have a copy to hand so that you can easily spot instances of lifting from the original. The text will not appear
on the screen.

¢ Go through all the responses and assess every question for comprehension.

a. Marks are awarded on a point by point basis, according to the mark scheme.

b. Minimal (additional) irrelevance can be ignored BUT mindless copying (often long chunks) results in no marks for comprehension or
QoL

c. For comprehension / content, remember that you are a “sympathetic native speaker / sympathetic examiner”. If language interferes
slightly but it is clear that the candidate has understood, give the mark for content / comprehension (unless there is ambiguity or it is
gibberish). Limited ability to use language will be reflected in the mark awarded under grid C2. If appropriate, candidates may
answer with single words / short phrases.

e Annotations:
e Award 1, 0 or NR without annotation.

e Use atick (v) to indicate a mark awarded on any question where the answer is more than one mark.

e Use a cross (X) when a word in the response invalidates an otherwise acceptable answer.

¢ Even if the answer is lifted verbatim from the text, as long as it is a direct answer, award the comprehension mark but highlight and exclude
from Quality of Language assessment.
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Task/Exercise 7

June 2013

Question Answer Marks Guidance
[10]
a JERV R GCIX 5 W [ B
b (Sl | 2l sl !z doys [ olass o 1 el B o >y Cans b soe 4y ol oL
Q‘Q).o Lg‘).g 1
c(@) 51 e, T (L) i @y obozel () o 1
c(2) ol 55 Giligi (85 05 oo ol 9 (V) & 1 b S5 ay o gl gl pas 4y (slo Ll 435S 1
el Jgu8 BB 3] o g0l
d a5l hogs Lollg aily ool sms o a5 2
e hid olos (L) aisS Byl 1) lasjge slaal aily oo v bap] o 1
f (0 22) gonplynl | (b i '
g 1

S0l yuad atalgs o (L) 05,5 0 S 08 ladion o 5l >

(L) oy

2 Spneli slaasly g lagls Jdo 4
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Task/Exercise 8: Transfer of Meaning

Mark Scheme

June 2013

Question Answer Marks Guidance
[10] Content Levels of response
4 SO Award two marks per translated section GRID H.2 TRANSFER OF MEANING
! DS 097y ek 9 (38 oz el 0 2 according to the grid below. This grid
v oyeunS sled o assesses Transfer of Meaning int(_) English. | 2 _
There are rich people and poor people Nof[e that this gric_i int_egrates Quz_illty of Acgurate transfer of meaning. Faultless
throughout the world. In all countries Written Communication Strand (i) or wrtual!y faultless grammar,
' " descriptors. punctuation and spelling in English.
2 1iST oS coman 517V Sleo jaboay 2 Exceptional responses and marks to award: | 1
X Inconsistent transfer of meaning. Mostly
i ble 318 1. Candidates may answer in faultless accurate but there are errors and/or

on average, 10% of the population, English but may not transfer missed details. There are instances of

who are mostly employers, .. meaning accurately. Award either 0 error in grammar, punctuation and
3 s ens 1 e 74 2 or 1 mark, depending on level of spelling in English.

S92 )1 RIS S ) ) =9 inaccuracy in meaning.
= LM )‘ /ﬁ' c)ilb * . . 0 L .
2. The transfer of meaning is accurate Very limited transfer of meaning. A

hold 90% of the wealth. On the other but contains significant spelling substantial number of elements

hand, 90% of the population, .. and/or grammar errors. Award 0 or 1 | misunderstood or missing. Significant
4 Ao Qlf*‘&f?’r" o] uL“)M as 2 mark, depending on level of inaccuracy | error in grammar, punctuation and

of English. spelling in English.
wadyle lest oy o STV s

most of whom are the employees,

have at their disposal only 10% of the

wealth, ..
5 2

00 munedis aVole 8 jobo 4 oo ] A

which is, in turn, distributed unjustly.

10
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Task/Exercise 9
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Question Answer Marks Guidance

[S]

a - . R . 1
poye S () il poye 1) -+ goaled CungS il Sentence Completion
ol - / - L) .ol Marks entered individually. No need for annotation. Enter 1, O or
2 PO 0 Cawd 53 [ (500 50 CuagS> (L) ANCars NR as appropriate.

b s 58 Sl a5 (6,5 ,15) syl | L
¢ QS o oolainl (eguw) [ £iS0 e Glaie )5 51 i 1
d Gl HLle 815 CaagSo b S i ez (L) s jo i 1
€ (Cawbow 9 /,0) o 395 (L) B & 1

Task/Exercise 10

Question Answer Marks Guidance
[7]
a . o . L 1
O | e () (po5) 2l Multi-choice
b e , IS . LS O 1 Marks entered individually. No need for
uL...»lo °b95 © Eroye Sodor s annotation. Enter 1, 0 or NR as

¢ Sgus oo bl [ Uas Caely a5 s (L) cdsmocu B o 1| appropriate.
d . ‘. . " 1

Cowl i | oy, | moly 1o ke yo sodes OlalS oS ol azgs
e Clle Sz o (L) WS G (L) Jlis | 1 Dol ools i b Joles il
f ol sl [edadlons | Cublyn bl o [ Lais [ g lagSS !
g Jolss /5] oslses /5] slacgozen /5] 6y SO /51 00y oS 1

11
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Task11

Task specific guidance
e Each question will be scanned in individually (questions with more than one element will appear twice/three times as appropriate).

e Familiarize yourself with the text and have a copy to hand so that you can easily spot instances of lifting from the original. The text will not appear
on the screen.

¢ Go through all the responses and assess every question for comprehension.

d. Marks are awarded on a point by point basis, according to the mark scheme.
e. Minimal (additional) irrelevance can be ignored BUT mindless copying (often long chunks) results in no marks for comprehension or

QoL

f.  For comprehension / content, remember that you are a “sympathetic native speaker / sympathetic examiner”. If language interferes
slightly but it is clear that the candidate has understood, give the mark for content / comprehension (unless there is ambiguity or it is
gibberish). Limited ability to use language will be reflected in the mark awarded under grid C2. If appropriate, candidates may
answer with single words / short phrases.

¢ Annotations:
e Award 1, 0 or NR without annotation.

e Use atick (v') to indicate a mark awarded on any question where the answer is more than one mark.

e Use a cross (X) when a word in the response invalidates an otherwise acceptable answer.

o Even if the answer is lifted verbatim from the text, as long as it is a direct answer, award the comprehension mark but highlight and exclude
from Quality of Language assessment.

12
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Task/Exercise 11

Question Answer “’I[?BI;S Guidance
a(1) o S |t
" Sl sy, Ko el oy () 1
b Galises GLS 00 e 5l LS S Gl o 1
¢ Sloel )5 (59, 70¢ 3| a8 6l b locaegS> | 1
d 1

€ QS oo ookl lace I8 /e jre o g 51 i 1
Sl /25,5 Glaails, jo

f e 55 4 LA ol b s s

g

3,15 0925 (owbw SOL o el iz 1
aisS oo Codlid /15 Ll ,8 IS il Cp (o ((SKe2) L | 1

13
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Assessing Quality of Language across Section B

a.

You will get a separate screen which will be the whole page for exercise 4, 5, 6, 7, 9, 10 and 11 (unannotated). Read all the answers
again. You may use the green L marking tool to highlight good language to assist you in the application of Grid C.2. but it is not
essential.

Apply Grid C.2 and enter the mark.

PE to provide specific guidance on which exercises in Section B will provide best evidence for Quality of Language.

QUALITY OF LANGUAGE - ACCURACY

GRIDC-2 | 10 marks AO3

9-10 Characterised by a high and consistent level of accuracy in use of complex structures, although there may be some errors.

7.8 Language generally accurate. Shows a sound grasp of AS (and/or A2) structures, as appropriate. Generally correct use of complex
structures. Tenses and agreements good, although there may be some inconsistency and errors in more complex areas.

5.6 Shows evidence of fair understanding of grammatical usage. Generally accurate use of simple sentence structures. Some correct
use of complex sentence structures. The performance is likely to be patchy and inconsistent.
Evidence of gaps in basic grammar. Frequent errors of an elementary kind (endings, verb forms, gender of common nouns,

3-4 adjectival agreements) but evidence of correct use of simple sentence structures. Vocabulary and structures may be quite strongly
influenced by the candidate’s first language.

0-2 Little evidence of grammatical awareness. Persistent, serious and elementary errors (endings, verb forms, gender of common

nouns). Frequent first language interference.

14
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Task/Exercise 12-19

Task specific guidance

Mark one essay using the grids N, O, C.2 and F.2.

Mark Scheme June 2013

If a candidate has written more than one essay mark both essays in the normal way but enter the mark for the essay which has earned most marks

over all.
Question Indicative Content Marks Guidance
Task 12- | No Indicative Content — personal response [25] | Grid N guidance

19

3—-4 — No specific example from TL = cap 4

5—-6 — Demonstration of originality and/or imagination — applies mainly to
imaginative

7-8 — Imaginative and/or original response to task — applies mainly to
imaginative

Grid O guidance
6—9 — Straight narration = more 6/7

Evidence of some argument = more 8/9

15
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Task/Exercise 12-19 — Language (QoL) — Grids C.2 and F.2: [20 marks]

Question Answer Marks Guidance
Task 12- | Assess for Quality of Language using Grids [20] Read the whole response again and assess for Range (Grid F.2) first —i.e.
19 C.2and F.2 vocabulary and structures. Then assess for Accuracy (Grid C.2). Key words
Appendix 1 have been highlighted in the grids below. Ignore final sentence of 3-4 band in

Grid C.2, because vocabulary and structures have already been assessed
under Grid F.2. If you wish, you may use the underlining tool (--) to show
language errors if you find it makes it easier to apply Grid C.2, but it is not
essential. Enter your mark.

Grid C.2 guidance

0-2 — Errors ([e.g.] endings, verb forms, gender of common nouns).
Frequent first [= other] language interference.

3—-4 — Errors ([e.g.] endings, verb forms, gender of common nouns, adjectival
agreements).
Candidate’s first [= other] language.
Meaning may be unclear; more wrong than right.

5—-6 — Wrong/right = 50/50

7-8 — More right than wrong.

Grid F.2 guidance
5-6 — [A range of] syntax and sentence structures appropriate to the [register of

the] task.
7-8 — Effective = good.
Reads easily.

9-10 — idiom # idioms.

16
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APPENDIX 1

GRID N

9-10

5-6

3-4

0-2

Mark Scheme

RELEVANCE AND POINTS OF VIEW
10 marks AO2

Consistently relevant information that supports
points of view and opinions. Shows genuine insight
in responding to the task.

Relevant information that responds to the
requirements of the task and is used to support
points of view and opinions. Produces an imaginative
and/or original response to the task.

The information given is mainly relevant to the task.

Points of view and opinions are generally supported
by some factual evidence. May demonstrate some
originality and/or imagination.

Includes some relevant information but does not
always address the requirements of the task. May
have some difficulty in expressing points of view
and/or narrating events and/or communicating factual
information.

The response to the task is likely to be very short
and/or irrelevant and/or very superficial.

GRID O

13-15

10-12

6-9

3-5

0-2

17

June 2013

STRUCTURE AND ANALYSIS
15 marks AO2

The response displays genuine control and clarity. A
very well-developed argument. Confident ability to
develop an argument, analyse and evaluate, and draw
conclusions.

Coherently structured and organised response. Points
of view are linked in a logical sequence. Able to
develop an argument, analyse and evaluate, and
draw conclusions.

Structured and organised response. Points of view are
mostly linked in a logical sequence. Shows some
ability to develop an argument, analyse and evaluate
and draw conclusions.

Shows some ability to structure and organise the
response. Limited ability to develop an argument,
analyse and evaluate, and draw conclusions.

Random organisation of the response. Limited
attempt to develop an argument, analyse and
evaluate, and draw conclusions.
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GRID C.2

9-10

7-8

5-6

3-4

0-2

Mark Scheme

QUALITY OF LANGUAGE (ACCURACY)
10 marks AO3

Characterised by a high and consistent level of
accuracy in use of complex structures, although there
may be some errors.

Language generally accurate. Shows a sound grasp
of AS and/or A2 structures, as appropriate. Generally
correct use of complex structures. Tenses and
agreements good, although there may be some
inconsistency and errors in more complex areas.

Shows evidence of fair understanding of grammatical
usage. Generally accurate use of simple sentence
structures. Some correct use of complex sentence
structures. The performance is likely to be patchy and
inconsistent.

Evidence of gaps in basic grammar. Frequent errors
of an elementary kind (endings, verb forms, gender of
common nouns, adjectival agreements) but evidence
of correct use of simple sentence structures.
Vocabulary and structures may be quite strongly
influenced by the candidate’s first language.

Little evidence of grammatical awareness. Persistent,
serious and elementary errors (endings, verb forms,
gender of common nouns). Frequent first language
interference.

18

GRID F.2

9-10

7-8

5-6

3-4

0-2

June 2013

QUALITY OF LANGUAGE (RANGE)
10 marks AO3

Effective and confident use of a wide range of
vocabulary and idiom with a variety of complex
sentence structures.

Effective use of a range of vocabulary and structures
appropriate to the task, with little repetition. A positive
attempt to introduce variety and to use a range of
complex sentence structures (though not always able
to maintain correct usage).

Attempts to extend the range of vocabulary,
though still rather repetitive. Attempts to use more
complex language with some success in producing
a range of syntax and sentence structures appropriate
to the task.

Use of a restricted range of vocabulary and structures.
Frequent repetition of the same words and phrases.
Some attempt (not necessarily successful) at the use
of more complex sentence structures.

Only simple sentence patterns. Very limited
vocabulary. Very limited range of structures.
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APPENDIX 2
Transcripts of Listening Texts

Note for Document production team: This section of the mark scheme must stay in
Portrait format until after the standardisation meeting.

Task/Exercise 1

[SETTING: Conversation]
(One Male voice + one Female voice)

Eng: Exercise 1:

Listen to this conversation between Maryam and Ali, and then answer the questions below
IN ENGLISH.

Women and Singing

fa95 Olos o5 1oo o

oz 55 login S sl pya> 3 L 45 o wilsle e

(S P 35 3 A Do CoinS 45 o pjlsl plae ey

fla ol oo ,lb 4 dax (so0ilgs A (e3g5d o 1 e

g sob &1 il s (Shs 03 o 03la] Ll g6 a5 Al iye USin Lol e lgciaal 5o
ady G2y Osel s sl 5l CSlsm ST L)

(S92 095 F SF 0 0P8 Gges Gob Lol ainys e

.o)‘dd S)LQ&:A-“.QSW )9-’>u-" ‘\i-})) as ((C‘-;):-:“.'.‘)) SS9y LS)‘J‘" yli&—‘ L5'9"L5A :LSLC

19
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Task/Exercise 2

[SETTING: CONVERSATION]
(One Male voice + one Female voice)

Y (e
b b Brae ;0 n9>ad 0

(S o0 el 58z am o BT 51 (585 12 145 o0 ddien o0k 16

Sz 9
0)se @3k T S sed )5 (nl a5 laee

03050 3k 0ty g2l s el g0 Slgame (Bg pligs 5| Sy ot 19748 50 ;S8 4 Mol b :
P93 (589 p 3l et Gz 5 Yl oy plomil DT s 4 L g o 55 (e &S > 40
A 9ol 92lage b LS 0,00 93 5l oS By (> el )l b O Do pged 13 1055 o0
) lad co 00y ol 0] a5T 45 o

e b 32 b (Sanisi oF & Sle U 0yf3 00 5l jsboira 9,558 b Jlasu yo syt o jalss
.o)b).g

Mo — 015 00lol g03Y Slga b 15 sa (129, 35 Gl coiS' so (5508 ] By e o5 8 Bzl Wb x5

S oo Sl )15 cpl 5l el pj0le oSG Cengy gy joe 9 5ke
L oedle 95 paise 455 5l g laesr il bt (o8 Sl (284Sl 5o lo Sl ey 1
23 ee gy Peble jgige [z 035 oo el gndle slaadn

ol sl (oo Su05 plesal Eliz 4 (585 Lol 5| (pham 4l adoe Sloas pie i
1yosn Syt WS o5 gigdlie o

2 S e dols S5 gojlail 4 pel> dle 3l eoad]) I pam a5 oo a5 0l plas a5 puls

SoIMEe o ezl )3 AIS o5 sl o (5 Sudiy (g00y S 0 05 g s (nblo () By <

Ab oo 05 jo5 yof pB 90y (58 HAB A (p 3l

S oo ooliwl o S ilesl Luld 0,8 Sz gl el o5 pyole 28l g0

?o)LS‘So.S uL&T $ |):5 :

S sk At plicebol lgn 4 o5

A5 oo olinwl 02y 5 BUT sle )T medas sl gt 55 anle,S (LS e yole

?4,550_, [‘,59)@)‘)} P CCIRRS L )159,@ RLESH) ‘).>

laiy o3 Wb oo 3Ll lgn a5 0

lad oo Uy pga> Jio 45 gt sl 43S o0 (o9 93895 Sl gl 5l anlo e (s (0 yoLe

1S (o8 057 (g o

faz Jo ol (8,8 ol plaen ol 5l o Y

ol oS e s

i 9 8 5 B e (S ge Slse Cod o0 Y

897 rt Sl 50,8 Slr

Ldis> 0,5 Ble slp all ol

(S y93 (65,0 5l oolaul

g g Shel gly gyl ol 5l oolil

€S oolicius] dingdigl B oS sudashar o1 5 edlgs ol b Lz (5 oo oo :

A N

G

G

O S O A O - O O N o N O R - %
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